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ZOOLOGY
(General)

Paper Code : IV - A & B

[Histology, Cell Biology and Genetics &
Developmental Biology and Endocrinology]

(New Syllabus)

Full Marks : 50 Time : Two Hours

Paper Code : IV - A

(Marks : 10)

Choose the correct answer.

Each question carries 1 Mark.

1. Mutation of a purine into another purine is called 

(A) Transversion

(B) Transition

(C) Transfection

(D) Transduction

1. ~„þ!Ýþ !þ™vþz!îû̃  öíöì„þ xyöìîû„þ!Ýþ !þ™vþz!îû̃  ~ !›vþzöìÝþŸ˜ £çëûyöì„þ îöìœ 

(A) ÝþÆyª¦þyîûŸ˜

(B) ÝþÆy˜!‹Ÿ˜

(C) ÝþÆyªöìšþ„þŸ˜

(D) ÝþÆyªvþy„þŸ˜

2. In which phase the cell cycle is stopped or in resting condition?

(A) G1

(B) G2

(C) G0

(D) M
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2. ö„þy˜ ”Ÿyëû ö„þy¡ì ‰þe« öíöì› ëyëû xíîy !î×y›îû“þ xîßþiyëû íyöì„þ Ú

(A) G1

(B) G2

(C) G0

(D) M

3. Dyes which give specific colour to the tissues are called —

(A) DPX

(B) Stain

(C) Fixative

(D) Preservative

3. öë ¢„þœ Dye/îû‚ „þœyéôéöì„þy¡ìöì„þ ~„þ!Ýþ !˜!”ÅÜT îû‚éôé~ îû!O“þ „þöìîû “þyöì„þ îöìœ éôôôé

(A) !vþ !þ™ ~:

(B) îûO„þ þ™”yíÅ

(C) !šþöì:!Ýþ¦þ

(D) !²Ì‹yîûöì¦þ!Ýþ¦þ

4. Insulin is produced by —

(A) Thyroid

(B) Pancreas

(C) Adrenal

(D) Pituitary

4. £z̃ ¢%!œ˜ vþzêþ™§¬ £ëû éôôôé

(A) íy£zîûöìëûvþ myîûy

(B) x@ÀÄyŸëû myîûy

(C) xÄy!vÈþ˜yœ myîûy

(D) !þ™Ý%þ£zÝþy!îû myîûy
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5. The nucleus of a sperm is located in —

(A) Tail

(B) Head

(C) Acrosome

(D) Middle Piece

5. Öe«y’%îû !˜vþz!„Ïþëûy¢!Ýþ vþzþ™!ßþi“þ íyöì„þ éôôôé

(A) öœ‹éôé~

(B) ›hßþ„þéôé~

(C) ~öìe«yöì‹y›éôé~

(D) ›•Äy‚öìŸ

6. Oxysomes or F1 particles occur on —

(A) Thylakoids

(B) Chloroplast surface

(C) Mitochondrial surface

(D) Inner-mitochondrial membrane

6. x!:öì‹y› îy F1 „þ’y íyöì„þ éôôôé

(A) íy£zœÄy„þöìëûvþéôé~

(B) ö„Ïþyöìîûy²ÕyÞÝþéôé~îû vþzþ™!îû“þöìœ

(C) ›y£zöìÝþy„þ!uÈþëûyîû vþzþ™!îû“þöìœ

(D) ›y£zöìÝþy„þ!uÈþëûyîû x¦þÄhsþîû#˜ “þöìœ

7. Acrosome of sperm is formed from —

(A) Nucleus of Spermatid

(B) Centrosome of Spermatid

(C) Mitochondria of Spermatid

(D) Golgi body of Spermatid
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7. Öe«y’%îû ~öìe«yöì‹y›!Ýþ †!àþ“þ £ëû  öíöì„þÐé

(A) Öe«y’%îû !˜vþz!„Ïþëûy¢ öíöì„þ

(B) Öe«y’%îû ö¢öìrÝþÆyöì‹y› öíöì„þ

(C) Öe«y’%îû ›y£zöìÝþy„þ!uÈþëûy öíöì„þ

(D) Öe«y’%îû †œ!† î!vþ öíöì„þ

8. The formation of Yolk is known as —

(A) Oogenesis

(B) Vitellogenesis

(C) Gametogenesis

(D) Histogenesis

8. „%þ¢%› ÷“þ!îûîû þ™kþ!“þöì„þ îœy £ëû éôôôé

(A) vþzöì‹öì̃ !¢¢

(B) ¦þy£zöìÝþöìœyöì‹öì̃ !¢¢

(C) †Äyöì›öìÝþyöì‹öì̃ !¢¢

(D) !£öìÞÝþyöì‹öì̃ !¢¢

9. The fluid mosaic model of plasma membrane was forwarded by -

(A) Jacob and Monod

(B) Singer and Nicolson

(C) Robertson

(D) Robert Hooke

9. ö„þy¡ì þ™”Åyîû šÏ$þ£zvþ ö›y‹y£z„þ ›öìvþœ!Ýþ ²Ìî“Åþ˜ „þöìîû̃  éôôôé

(A) ‹Äy„þî ç ›öì̃ yvþ

(B) !¢Dyîû ç !˜„þœ¢˜

(C) îûîyÝÅþ¢˜

(D) îûîyÝÅþ ý„þ
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10. Adenine and Guanine are —

(A) Pyrimidines

(B) Purines

(C) Nucleosides

(D) None of these

10. xÄyöìvþ˜y£z̃  ~î‚ =ëûy˜y£z̃  £öìœy éôôôé

(A) þ™y£z!îû!›!vþ˜

(B) !þ™vþz!îû̃

(C) !˜vþz!„Ïþç¢y£zvþ

(D) ö„þy˜!Ýþ£z ˜ëû

——————
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Paper Code : IV - B

(Marks : 40)

The figures in the margin indicate full marks.
Candidates are required to give their answers

in their own words as far as practicable.

Unit 1 : (Histology, Cell Biology and Genetics)

1. Answer any two questions : 4×2=8

(a) Give a brief account on histology of testis.

(b) Write a note on ultra-structure of mitochondria.

(c) What is crossing-over?

(d) Give a brief account on Thalassemia.

2. Answer any one question : 12×1=12

(a) What do you mean by linkage? Describe complete and incomplete linkage with
examples. 2+5+5=12

(b) What is mutation ? Discuss point mutation with proper example. Add a note on
Down’s Syndrome. 2+6+4=12

(c) Write short notes on : 4×3=12

(i) Nucleosome

(ii) Haemophilia

(iii) GERL system

Unit 2 : (Developmental Biology and Endocrinology)

3. Answer any two questions : 4×2=8

(a) Describe in brief the process of spermatogenesis.

(b) Write down the functions of yolk-sac and allantois. 2+2=4

(c) Note down the hormones and their functions secreted from ovary.

(d) Give a brief account on role of organizer in embryonic development.

4. Answer any one question : 12×1=12

(a) What is placenta ? Describe the types of placenta based on the degree of intimacy
of maternal and foetal tissues along with their functions. 2+6+4=12

(b) What is fertilization ? Describe the fertilization process in sea-urchin. 2+10=12
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(c) Write short notes on : 4×3=12

(i) Pancreatic hormones

(ii) Thyroid hormones

(iii) Types of cleavage

îDy˜%îy”

Unit 1 : (Histology, Cell Biology and Genetics)

1. öë ö„þyöì̃ y ”%ó!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 4×2=8

(a) Öe«yŸöìëûîû „þœyßþiy!˜„þ †àþ˜ ¢‚öìÇþöìþ™ î’Å̃ y „þöìîûyÐ

(b) ›y£zöìÝþy„þ!uÈþëûyîû þ™îûy’% †àþ˜ ¢Á™öì„Åþ xyöìœy‰þ˜y „þöìîûyÐ

(c) e«!¢‚éôéç¦þyîû „þ# Ú

(d) íÄyœyöì¢!›ëûy ¢Á™öì„Åþ ~„þ!Ýþ ¢‚!Çþ® !îîîû’ ”yçÐ

2. öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 12×1=12

(a) !œöìBþ‹ îœöì“þ „þ# öîyöìGþy Ú vþz”y£îû’¢£ ¢Á™)’Å ~î‚ x¢Á™)’Å !œöìBþ‹ î’Å̃ y „þöìîûyÐ 2+5+5=12

(b) !›vþzöìÝþŸ˜ !„þ Ú ¢!àþ„þ vþz”y£îû’¢£ þ™öìëûrÝþ !›vþzöìÝþŸ˜ xyöìœy‰þ˜y „þöìîûyÐ vþyvþz̃ ¢ !¢˜öìvÈþyöì›îû vþzþ™îû ~„þ!Ýþ
Ýþ#„þy öœöì…yÐ 2+6+4=12

(c) Ýþ#„þy öœöì…y ­ 4×3=12

(i) !˜vþz!„Ïþçöì‹y›

(ii) !£öì›y!šþ!œëûy

(iii) GERL !¢öìÞÝþ›

Unit 2 : (Developmental Biology and Endocrinology)

3. öë ö„þyöì̃ y ”%ó!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ­ 4×2=8

(a) ßþ™y›ÅyöìÝþyöì‹öì̃ !¢¢ ²Ì!e«ëûy ¢‚öìÇþöìþ™ î’Å̃ y „þöìîûyÐ

(b) „%þ¢%› í!œ (yolk-sac) ~î‚ xÄyœy˜Ýþöìëû¢ (allantois) ~îû „þy‹ öœöì…yÐ

(c) !vþÁºyŸëû öíöì„þ !˜ƒ¢,“þ £îûöì›y˜ ~î‚ “þyöì”îû „þyëÅyîœ# î’Å̃ y „þöìîûyÐ

(d) ¼*öì’îû !î„þyöìŸ îÄîßþiyþ™„þ (organizer) éôé~îû ¦)þ!›„þy ¢Á™öì„Åþ ~„þ!Ýþ ¢‚!Çþ® !îîîû’ ”yçÐ

4. öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 12×1=12

(a) x›îûy S²Õyöì¢rÝþyV „þ# Ú ›y“,þ ~î‚ ¼*’„þœyîû ¢‚öìëyöì†îû vþzþ™îû !¦þ!_ „þöìîû x›îûyîû ö×’#!î˜Äy¢ „þöìîûy
~î‚ ~îû „þy‹ öœöì…yÐ 2+6+4=12
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(b) !˜öì¡ì„þ „þ# Ú ¢#éôéxy!‰Åþöì̃ îû !˜öì¡ì„þ ²Ì!e«ëûy!Ýþ î’Å̃ y „þöìîûyÐ 2+10=12

(c) Ýþ#„þy öœöì…y ­ 4×3=12

(i) x@ÀÄyŸëû £îûöì›y˜

(ii) íy£zîûöìëûvþ £îûöì›y˜

(ii) !„Ïþöì¦þöì‹îû ²Ì„þyîûöì¦þ”

——————


